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6% |L'addition posée k%

http://tissearine.eklablog.com/

567 +77 +77 +199=.........

555+ 69 + 287 +55=..........




% :|L’addition posée % k%

http://tissearine.eklablog.com/

257 + 467 +97 +99 = .........

63+49+333+465-=.........




% :|L’addition posée % k%

http://tissearine.eklablog.com/

817 +46 +66 +66 =..........

213 +109+433+95=.........




% :|L’addition posée % k%

http://tissearine.eklablog.com/

357 +506+77 +58=........

222 +84 +176 + 195 = .........




% :|L’addition posée % k%

http://tissearine.eklablog.com/

633 +63 +69 + 186 = .........

444 + 44 + 244 + 149 = .........




% :|L’addition posée % k%

http://tissearine.eklablog.com/

286 +68+74 +393 =..........

98+ 686 +75+9~=.........




% :|L’addition posée % k%

http://tissearine.eklablog.com/

145 + 88 + 339 + 337 = .........

268 +86 +375+99 =.........




% :|L’addition posée % k%

http://tissearine.eklablog.com/

56 + 58 + 249 + 397 = .........

388+ 276 +195+ 77 =..........




% :|L’addition posée % k%

http://tissearine.eklablog.com/

72 + 558 + 222 + 88 = .........

155 + 266 + 333 + 66 =..........




% :|L’addition posée % k%

http://tissearine.eklablog.com/

777 +44 + 55+ 99 = .........

122 + 188 + 562 + 126 = ......




" Y4 |L'addition posée k%%

http://tissearine.eklablog.com/

920
966
920
910
995
850
998
677
951
881
821
868
909
828
760
936
940
820
975
998




